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e This question paper contains 34 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
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Max Ltd. needed funds to fulfil a big order. The management of the company borrowed
money from a financial institution @ 15% interest, while the prevailing rate of interest was
11%. As a result of this the company was able to achieve the target.

According to you, management was

(a) Effective (b) Efficient
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Jasmine Ahluwalia is the manager of an artefacts museum's marketing team, responsible
for promoting exhibitions and events. In the previous season, she defined the total work of
managing the events into graphic designing, registration inquiries, bill payments, etc., in
order to facilitate specialisation. However, instead of allocating work, she had assigned
each team member the full responsibility of managing the promotion of an entire event. In
spite of holding regular team meetings to take feedback, Jasmine found problems
throughout the events season in the quality of graphic design, registration inquiry, bill




payments, etc,. For the upcoming events season, Jasmine has decided to divide these
responsibilities on the basis of her observation of the areas in which the individual team
members have excelled in the previous season and allocate the roles based on their skills
and competencies.

Identify the step in the organising process which was not properly performed in the
previous season but has been duly performed for the upcoming season.

a. Identification and division of work
b Establishing reporting relationships
C. Departmentalisation

d. Assignment of duties
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Statement | : SEBI was established to promote orderly and healthy growth of
securities market.

Statement Il : Price Rigging refers to a practice, in which the insider uses the
sensitive information about a company to make personal profits.

Choose the correct option from the following :

(@) Statement | is true and Statement Il is false.

(b) Statement Il is true and Statement | is false.

(c) Both the Statements are true.

(d) Both the Statements are false
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Financial leverage is called favourable if :
a. Return on investment is lower than cost
b. ROl is higher than cost of debt

Debt is nearly available
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The selection tests which are used to measure individuals potential for
learning new skills are called :
( ) Aptitude Tests (b) Intelligence Tests
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|dentify the dimension of the business environment illustrated by the picture
given_below:
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)  Economic Environment

) Social Environment

)  Technological Environment
) Legal Environment

Arun bought an air conditioner for Rs.35,500 from a reputed electronic shop
in the city. After two days of its installation the air conditioner is not working
properly. He approached the seller who refused to replace it.

Which is the appropriate authority to file his complaint under consumer
protection Act,2019

(a) District Commission (b) State commission

(c) National Commission (d) Supreme Court
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Read the following statements: Assertion (A) and Reason (R). Choose the
correct alternative from those given below:

ASSERTION (A): Controlling can prevent deviations.

REASON (R): Controlling helps in minimising deviations by taking actions




and decisions that reduce their recurrence.

a. Both Assertion (A) and Reason (R) are true and Reason is the correct
explanation of Assertion.

b.  Both Assertion (A) and Reason (R) are true and Reason is not the
correct explanation of Assertion.

c. Assertion (A) is true, Reason (R) is false.
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Under this method employees learn their job on the equipment they will be
using but training is done away from actual work place
a) Apprenticeship programme b) Vestibule training

c) Job rotatlon d) Job analysis
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OM Sweets is a renowned name for quality sweets since 1915. Amrit, the
owner of OM Sweets was worried as the sales had declined during the last
two months. When he enquired from the Sales Manager, the Sales Manager
reported that there were some complaints about the quality of sweets.
Therefore, Amrit ordered for sample checking of sweets. Identify the step
taken by Amrit that is related to one of the functions of management.

A. Measurement of actual performance.

B.  Corrective action

C. Comparison of actual performance with standards

D. Finding deviations

Eled 1915 @ I[UTadTqot fAsEal & fT v gy A g1 30
W%Wm%ﬁaﬁﬂ%ﬁaﬁﬁn@ﬁ%m%ﬁﬁ
fIRTae 31 Y| 39 Segie Aed Holol ¥ TodTS T ol Hod Heloll o




WWWWWHWWTQ@H%I STV 37 d o

%Wmé:&rﬁ%rﬁm 3Hd g 381U WWW@
qgaTe Y S Y § FRt A & uF & da e B

U. JEdTde 9&2le ahl AT |
ol. GURIcHS HRATS

T. maﬁ%m@xmqaﬁ?rﬁm

HRCERG G(‘pa-ll

11

Column | Column Il
A. Nature of | (i) A trading organisation needs lower
Business investments in fixed assets as compared to a

manufacturing organisation.

B. (i) A textile manufacturing company is
Technology | installing a cement manufacturing plant and
upgradation | s is investments in fixed assets is
increasing.

C. (iii) A capital-intensive organisation requires
Diversification | higher investments in fixed assets as
compared to labour-intensive organisation.
D. Choice of | (iv) Mobile phones became obsolete faster or
Technique many other assets. Hence these type of
businesses require more fixed capital.

(@) () A (iv)B(ii)C (D (b) (ii)A(iii)B(iv)C(i)D
(c) (ii)A (i)B (i))C (VD (d) (iv)A(i)B(iii)C(ii)D
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Aarushi purchased a pack of biscuits. When she opened it, she felt the
biscuits were stale. She carefully read the label on the pack of biscuits which
mentioned : “If you are not satisfied with the product quality, write to our
Customer Care Cell at Bell Foods Pvt. Ltd. B/321, Jalandhar, Punjab.” The
biscuit company has set up its own consumer service and grievance cell to
promote and protect the following right :

(a) Right to Safety

(b) Right to be Heard

(c )nght to be Informed

(d)R htt Consumer Edycation
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Match the statements given in column | with the characteristic of business
environment given in column Il
Choose the correct option from the following:
a.  (a)(iii), (b)-(ii), (c)-(i), (A)(iv)
b.  (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
c.  (a)(iv), (b)-(ii), (c)-(i), (d)-(iii)
d. _ (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
COLUMN I COLUMNIII




(@) | Increased demand of Khakhra and Thepla|i. | Uncertainty
in the region of Gujarat as compared to
Delhi region

(b) | Digital academic certificates are issued to | ii. | Dynamic
students accessible in a secured manner
to eliminate undesirable practices like
corruption and manipulation of records
under Digital India Initiative. Such
technological improvements are happening
at a very fast pace.

(c) | Fashion market is facing both opportunities | lii. | Relativity
and challenges. Therefore it is difficult to
predict the future of the fashion market.

(d) | A new government will result in changing| Iv. | Interrelatedness
government rules, fiscal policies, market
conditions etc
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Pragati Limited has chalked out an action plan in order to increase its market
share in the international market by 20% in the next one year. The action
plan contains the details about how the production levels will be increased,
promotional activities will be carried out and so on. Identify the type of
marketing function being described in the given lines.

(a) Gathering and analysing market information (b) Marketing planning

(c) Product designing and development (d) Packaging and labelling
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15 | Suggest a suitable selection test for the following jobs
. Driver b. Salesman
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16 | From the foIIowing, identify the Incorrect Statement as per Consumer

Protection Act, 2019:
A) National Commission has territorial jurisdiction over the whole country

for consumer protection.

B) District Commission entertains complaints where value of goods or
services paid as consideration does not exceed %1 crore.

C) Appeal against District Commission’s order can be filed in National
Commission.

D) District Commission and State Commission are set by the State
Governments.
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During the Covid-19 pandemic, the restaurant industry faced many
challenges. The lockdown led to huge decrease in demand. From April 2022,
the effect of Covid started reducing. The economy stated pricking up and
boom was noticed in the restaurant industry. As a result, larger amount of
working capital was required with increased production and sales. The factor
affecting the working capital requirement discussed above is

a) Seasonal factor (b) Production cycle

(c) Operating efficiency (d) Business cycle
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What are the factors that affect financing decisions?

Cash flow position of the company

Stability of earnings

Degree of financial risk

Contractual constraints

State of capital market

Level of competition

hoose the correct alternative from the following:
(b), (c) and (f)

(d), (e) and (f)

(a), (c) and (d)

(a), (c) and (e)
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Which of the following consumer rights under Consumer Protection Act, 2019
gives the freedom to consumers to access variety of products at competitive
prices?

a) Rightto be informed (b) Right to be assured/Right to choose

c) Right to consumer education (d) Right to be heard

3T GI&TOT fATATH, 2019 & degd Aeafai@d & I isT ar
3UFAT 3R 3TFanit & gfacadt Hraar oT [ffea g &

3cUTel deh Ugdey hl TadIdT ol £7
T. gfad gl 1 3R (&) 3meaEd Bl
T HUHR/TA T 3APR

(HT) ITATFAT TASTT T 31TAFR (1) GeAaTS T

20

The board of directors of M Ltd decided to issue debentures worth Rs.40
lakhs in order to finance a major research and development project. This
would increase the debt equity ratio from 1: 1 to 2: 1. However, at the same
time it would increase the earnings per share. The reason that will justify the
above situation is

(@) Unfavourable financial leverage, as the financial risk will be higher.

(b)  Unfavourable financial leverage, as return on investment is lower than
the cost of debt.

(c) Favourable financial leverage as debt is easily available.

(d) Favourable financial leverage, as return on investment is higher than
cost of debt
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Specific statement was given by an HR head. This statement had no scope
for any flexibility. It was the simplest type of plan. Identify the type of plan.
Give one more characteristic of this plan. Which plan is the widest type of
plan?

OR
Planning reduces creativity. Critically comment.
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Ashwin is working as a supervisor at Navaratna oil Factory. The factory is
producing 2500 Liters of refine oil every day. His job was to make sure that
the work goes on smoothly and there was no interruption in production. He
was such a leader who gives orders only after consulting with his
subordinates and work out the policies with the acceptance of the group.
|dentify and describe the leadership style being adopted by Ashwin..

OR
"Directing initiates every action in the organisation". Considering this
statement, list any three reasons why directing is important.
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23 | From the following information regarding Aditya Ltd. which is in the business
of manufacturing green tea, calculate the Return on Investment and Interest
Coverage Ratio of the company: (Show working)

Earnings before interest and tax ¥ 15,00,000

10% debentures % 12,00,000

Equity Share Capital (10 each) ¥ 18,00,000

Tax Rate 40%
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Il al 40%

24 | Two big Bollywood movies were scheduled to be released on the same date.
But, at the last moment, release of one movie had to be postponed due to
opposition by a group of people because of some unethical content in the
movie. The loss suffered by the postponed movie provided opportunity for
the released movie to earn maximum profits.

. Which characteristic of Business Environment is highlighted in the
given case?

. |dentify and explain the dimension of Business Environment which led
to the postponement of movie.
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25 [ Aman, Ahmad and Ally partners in a firm engaged in the distribution of dairy

products in Maharashtra state. Aman is a holder of Senior Secondary School
Certificate from Central Board of Secondary Education with Business Studies
as one of his elective subjects. Ahmed had done his post-graduation in
History and Ally in dairy farming.




One day, there was a serious discussion between Ahmed and Ally regarding
the nature of management, Ahmed argues that management was a
profession. Whereas, Ally argued against it saying that the legal and medical
profession are the only professions because they fulfill all the conditions of
profession. Aman on the basis of his knowledge of business studies
explained the nature of management as a profession to Ahmed and Ally.
Explain, how Aman would have satisfied both Ahmad and Ally?
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Nithya is running a Diagnostic Centre in Raipur. She has recently taken the
franchise of a famous brand in order to expand her business. In order to
meet the increased demand for manpower she had placed an advertisement
in the local newspaper and also short listed some candidates after
conducting a selection test. Identify and explain the remaining steps that she
needs to follow in the related process and explain them briefly.
OR

Differentiate between On-the-job and off-the-job training methods on the
following basis

1. Meaning

2. Level of employees
3. Methods

4. Approach
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Employers contribute 12% of basic wages each towards Employees
Provident Fund scheme and Employees’ Pension Fund scheme. A proposal
to reduce the contribution by employers and employees to 10% of basic pay
and dearness allowance was listed on the agenda for a recent meeting of
Employees Provident Fund Organisation held. The stakeholders expressed
their reservations about it and they feel that it should be continued at 12%.
Explain any two needs as suggested by Maslow's Need Hierarchy Theory,
which will not be satisfied by the incentives discussed above.

Rerar aaRT Jiasy A Jaar 3iR FaaR 92 A e &
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Riya and Siya are managers in the same organization having different units.
While discussing the function of management, Riya says “Planning is looking
ahead whereas controlling is looking back.” But Siya says, “Planning is
looking back whereas controlling is looking ahead.” Both are giving reasons
in favour of their statements.
Explain the possible reasons given by both and justify who is correct.

Or
A company is engaged in manufacturing machine components. The target
production is 250 units per day per worker. The company had been
successfully attaining this target until two months ago. Over the last two
months it has been observed that daily production varies between 200-210
units per worker.
a. Name the function of management and identify the step in the process
of this function which helps in finding out that the actual production of a
worker is less than the set target.
b.  To complete the process of the function identified in (a) and to ensure
the performance as per set targets, explain what further steps a manager




has to take.
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After completing her studies in product design, Sarah wishes to start her own
business to design products to cater to the mobility and communication
requirements of persons with special needs. She told her friend that she
wanted to focus on supplying high quality and affordable products on “no
profit — no loss basis”. The Unique Selling Proposition (U.S.P) of the
products will be sensitivity to challenges and needs of the differently abled.
She has to follow a series of steps to attain her predetermined objectives. In
the above lines, Sarah has discussed about one of the functions of
management. Identify the function and state its three steps in chronological
order other than the one discussed in the above para.
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Explain the four important elem nts of marketlng mix
0T h IR dcdl sl SITERAT Y
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After doing a course in stock tradlng, Madhav downloaded one trading app
from the google play store and he started trading securities. That helped him
to earn sufficient

Profits. Adwaith, a friend of Madhav, having lot of money in his pocket is
finding difficulty in appreciating the money. Madhav suggested Adwaith to
open a Demat account with any of the stock broker. An Initial Public Offer
(fresh issue of securities for the first time) of a blue-chip company was on the
way. Madhav wanted to invest in that. As Adwaith was not that much
confident, he decided to buy some existing securities from the stock market.
In the context above case:

(a) Identify the two different types of capital market being referred to by
quoting lines from the para.

(b) State any four differences between the two types of capital markets as
identified.
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Differentiate between functional structure and divisional structure on the
basis of:

()  Formation

(Il)  Specialisation

(ll) Responsibility

(IV) Managerial development

(V) Cost

(VI) Coordination




OR

Anoop started ‘Cat’s Eye’, a company providing cyber security solutions to
businesses. Its objective is to prevent, detect, respond to cyber-attacks and
protect critical data. He was a hardworking software engineer and an expert
in cyber security. His reputation grew by leaps and bounds as he was not
only a person of integrity but also did his work with utmost honesty and
sincerity. The business started growing day by day.
He got delighted when he was given a big project by the Ministry of Science
and Technology. While working on the project he found that the volume of
work made it impractical for him to handle all the work by himself. Therefore
he decided to expand the team. The company maintained a close liaison with
an engineering college in the State. During a campus placement, Arya and
Arun were appointed to work for the new project. He found the new
employees capable, enthusiastic and trustworthy. Anoop was thus, able to
focus on the objectives and with the help of Arya and Arun, the project was
completed on time. Not only this, Anoop was also able to extend his area of
operations. On the other hand, Arya and Arun also got opportunities to
develop and exercise initiative.

(A) Identify and explain briefly the concept used by Anoop in the above

case which helped him in focusing on the objectives.
(B) Also, explain any four points of importance of the concept identified
in part (A).
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Rajveer works as a plant superintendent in a carpet making factory. In order
to complete the export orders on time, the production manager asks him to
make the workers work over time whereas the finance manager is strictly
against this practice because it will increase the cost of production.
Moreover, Rajveer feels that since the company is manufacturing handmade
carpets as well as machine made carpets, there is a lot of overlapping of
activities. Therefore, there should be two separate divisions for both of them
wherein each division should have its own in-charge, plans and execution
resources.

In context of the above case:

(i)  Ildentify and explain the principle of management which is being
violated.

(i)  Also identify and explain the principle of management that Rajveer
feels should be implemented in the factory.

(iii)  Give any two differences between the principle of management as
identified in part (i) and part (ii) respectively.
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Explain the following as functions of marketing:
(i)  Marketing Planning
(i)  Product Designing and Development
(iii)  Standardisation and Grading

Or

Explain the following marketing philosophies:
(i)  Product Philosophy

(i)  Production philosophy

(Il1)  Marketing Philosophy
T T AU & ST & 9 H JHSEU:
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